Reasoning and Problem Solving — Decimals answers

la. 4 lengths
1b. 1.75km
1c. 55¢cm or 0.55m

2a. Alex — 05:34 Hannah — 03:35 Shae - 05:47

NO2c
No

2¢c. No Samia is not correct. She has thrown it 17.29m which is less than Albert’s

throw of 17.37m.

3a. Sulaman 06.45m = 06.45m
Saskia 13.98m = 13.89m
Alexis 08.09m < 09.80m
Charlie 11.50m > 11.05m
Danika 12.12m - 12.21m

3b. No Danika is not correct. 1

3c. Highest score = 87.43m. Lowest score = 34.78m.

metre more than 11.50m is 12.50m and Danika threw
the discus 12.12m which is less than 1 whole metre than 11.50m.

4a. 1st Adam
2nd Joel
3 Bertie
4th Klay
5th Shanice
6th Katya




